Exercices : Multiplication et division par 10 ; 100 ; 1000

Exercice témoin 1 : Calculer
a.2568 x100 = ....coveeeeen,
b.679 + 100 = ..o
c.0,48 x1000 = .....ccoovvvervicine

d. 32,21 1000 = ...c.oooveeeeen,
e.005 -10= ...,
f.240 000 x 100 = ...ocoovoeeeeeeeennne
9.51,4 = 100 = oo
h.2 + 1000 = ....ccoooveieieeee.

Exercices :
Exercice témoin 1 : Calculer
a.2568 x100 = ......cccooeereuenne.

b. 679 + 100 = ....cccovveeen.
c.048 x 1000 = .....covvvvveennn

d. 32,21 = 1000 = ...ccooeeeeeeeee.
e.005 =10 = oo,
£.240000 x 100 = .....cooovieices
9.51,4 + 100 = ..o,
h.2 1000 = ..o,

Exercices :
Exercice témoin 1 : Calculer
a.2568x100= .....cccovvvvennnn.

b. 679 + 100 = ....ccovveene.
c.0,48x1000 = ......cccevvvverennnn.

d. 32,21 + 1000 = .....ccoovvvene.
e.005 +10= e,
£.240000 x 100 = .....coooovieieene
9.51,4 + 100 = ..o
h.2 1000 = ....coovvveeeeene.

Exercice 2 : Calculer

A 78 % e =780
b. 45300 + .....ccovverrinnee = 453
C.15,6 % oo = 1560
d. 800 * ..o =08
€. e +10=541
LT x 100 = 6753
o [ +100 = 0,548
e + 1000 = 25,06

Multiplication et division par 10 ; 100 ; 1000

Exercice 2 : Calculer

Q78 % e = 780
b. 45300 + ..covrorerree = 453
€. 15,6 % e = 1560
d. 800 + woooooeeereee =0,8
€. ereeeereee e +10 = 54,1
Fr oo x 100 = 6753
Ge ereeesneeeessneen =100 = 0,548
R eeeeeesreeeessee + 1000 = 25,06

Multiplication et division par 10 ; 100 ; 1000

Exercice 2 : Calculer

0 78 % oo = 780
b. 45300 + oo = 453
15,6 % oo = 1560
- 1010 K =0,8
€. weeereeeeseeee e +10= 54,1
Fr e x 100 = 6753
Ge wereeeeeessnseesn =100 = 0,548
R e = 1000 = 25,06

Exercices : Multiplication et division par 10 :

Exercice témoin 1 : Calculer
a.2568 x100 = .....ccoovevveen
b.679 + 100 = ....cccoovveeee
c.0,48 x1000 = ......ccooovvevvien

d. 32,21 = 1000 = ..o
e.005 - 10= ...,
f.240000 x 100 = ....ooovvomeeeeeenn
.51,4 = 100 = oo
h.2 + 1000 = ....ccoviiieee.

Exercices :
Exercice témoin 1 : Calculer
a.2568 x100 = ......cccoovvvrnnne.

b. 679 + 100 = .....ccovvvver
c.048 x 1000 = ......cocoevvvvvveene

d. 32,21 + 1000 = ....cooeieeeeenne.
e.005 = 10= e,
f.240 000 x 100 = .....coovvviiieeeae
9.51,4 - 100 = ..o,
h.2 + 1000 = ....cooovveeeeeene.

Exercices :
Exercice témoin 1 : Calculer
a.2568x100= ......cccoeveveenn
b. 679 +~ 100 = .....ccovevee
c.048 x 1000 = ......cocoevvvvvrerne
d. 32,21 + 1000 = .....coovvrae.
e.005 +10= .,
f.240 000 x 100 = .....coovvvvvererererererennns
9.51,4 100 = ..o
h.2 1000 = ..o,

Multiplication et division par 10 ;

Multiplication et division par 10 ;

100 : 1000
Exercice 2 : Calculer
A 78 % e, =780
b. 45300 = .....ccoevvveveene = 453
C.15,6 % ... = 1560
d. 800 = ... =0,8
€. et +10=541
L T x 100 = 6753
o R +100= 0,548
[ + 1000 = 25,06

100 ; 1000
Exercice 2 : Calculer
A 78 % e, =780
b. 45300 = .....coovvveveree. = 453
€. 15,6 % ... = 1560
d. 800 = ..o =0,8
€. et +10=541
L I x 100 = 6753
o R +100=0,548
R +1000 = 25,06

100 ; 1000
Exercice 2 : Calculer
A 78 % e, =780
b. 45300 + ....cceuvven. = 453
€. 15,6 % . = 1560
d. 800+ . =0,8
€. e +10=541
L S x 100 = 6753
o R +100=0,548
T + 1000 = 25,06



